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NEW QUESTION 1
A security engineer needs to create an Amazon S3 bucket policy to grant least privilege read access to IAM user accounts that are named User=1, User2. and
User3. These IAM user accounts are members of the AuthorizedPeople IAM group. The security engineer drafts the following S3 bucket policy:

When the security engineer tries to add the policy to the S3 bucket, the following error message appears: "Missing required field Principal.” The security engineer
is adding a Principal element to the policy. The addition must provide read access to only Userl. User2, and User3. Which solution meets these requirements?
A)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 2

A company is using Amazon Macie, AWS Firewall Manager, Amazon Inspector, and AWS Shield Advanced in its AWS account. The company wants to receive
alerts if a DDoS attack occurs against the account.

Which solution will meet this requirement?

A. Use Macie to detect an active DDoS even

B. Create Amazon CloudWatch alarms that respond to Macie findings.

C. Use Amazon Inspector to review resources and to invoke Amazon CloudWatch alarms for any resources that are vulnerable to DDoS attacks.
D. Create an Amazon CloudWatch alarm that monitors Firewall Manager metrics for an active DDoS event.

E. Create an Amazon CloudWatch alarm that monitors Shield Advanced metrics for an active DDoS event.

Answer: D

Explanation:

This answer is correct because AWS Shield Advanced is a service that provides comprehensive protection

against DDoS attacks of any size or duration. It also provides metrics and reports on the DDoS attack vectors, duration, and size. You can create an Amazon
CloudWatch alarm that monitors Shield Advanced metrics such as DDoSAttackBitsPerSecond, DDoSAttackPacketsPerSecond, and
DDoSAttackRequestsPerSecond to receive alerts if a DDoS attack occurs against your account.

For more information, see Monitoring AWS Shield Advanced with Amazon CloudWatch and AWS Shield Advanced metrics and alarms.

NEW QUESTION 3
A company hosts an end user application on AWS Currently the company deploys the application on Amazon EC2 instances behind an Elastic Load Balancer The
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company wants to configure end-to-end encryption between the Elastic Load Balancer and the EC2 instances.
Which solution will meet this requirement with the LEAST operational effort?

A. Use Amazon issued AWS Certificate Manager (ACM) certificates on the EC2 instances and the Elastic Load Balancer to configure end-to-end encryption

B. Import a third-party SSL certificate to AWS Certificate Manager (ACM) Install the third-party certificate on the EC2 instances Associate the ACM imported third-
party certificate with the Elastic Load Balancer

C. Deploy AWS CloudHSM Import a third-party certificate Configure the EC2 instances and the Elastic Load Balancer to use the CloudHSM imported certificate
D. Import a third-party certificate bundle to AWS Certificate Manager (ACM) Install the third-party certificate on the EC2 instances Associate the ACM imported
third-party certificate with the Elastic Load Balancer.

Answer: A

Explanation:

To configure end-to-end encryption between the Elastic Load Balancer and the EC2 instances with the least operational effort, the most appropriate solution would
be to use Amazon issued AWS Certificate Manager (ACM) certificates on the EC2 instances and the Elastic Load Balancer to configure end-to-end encryption.
AWS Certificate Manager - Amazon Web Services : Elastic Load Balancing - Amazon Web

Services : Amazon Elastic Compute Cloud - Amazon Web Services : AWS Certificate Manager - Amazo Web Services

NEW QUESTION 4

A company developed an application by using AWS Lambda, Amazon S3, Amazon Simple Notification Service (Amazon SNS), and Amazon DynamoDB. An
external application puts objects into the company's S3 bucket and tags the objects with date and time. A Lambda function periodically pulls data from the
company's S3 bucket based on date and time tags and inserts specific values into a DynamoDB table for further processing.

The data includes personally identifiable information (PIl). The company must remove data that is older than 30 days from the S3 bucket and the DynamoDB table.
Which solution will meet this requirement with the MOST operational efficiency?

A. Update the Lambda function to add a TTL S3 flag to S3 object

B. Create an S3 Lifecycle policy to expire objects that are older than 30 days by using the TTL S3 flag.

C. Create an S3 Lifecycle policy to expire objects that are older than 30 day

D. Update the Lambda function to add the TTL attribute in the DynamoDB tabl

E. Enable TTL on the DynamoDB table to expire entires that are older than 30 days based on the TTL attribute.

F. Create an S3 Lifecycle policy to expire objects that are older than 30 days and to add all prefixes to the S3 bucke
G. Update the Lambda function to delete entries that are older than 30 days.

H. Create an S3 Lifecycle policy to expire objects that are older than 30 days by using object tag

I. Update the Lambda function to delete entries that are older than 30 days.

Answer: B

NEW QUESTION 5
An AWS account administrator created an 1AM group and applied the following managed policy to require that each individual user authenticate using multi-factor

authentication:
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After implementing the policy, the administrator receives reports that users are unable to perform Amazon EC2 commands using the AWS CLI.
What should the administrator do to resolve this problem while still enforcing multi-factor authentication?

A. Change the value of aws:MultiFactorAuthPresent to true.

B. Instruct users to run the aws sts get-session-token CLI command and pass the multi-factor authentication--serial-number and --token-code parameter
C. Use these resulting values to make API/CLI calls.

D. Implement federated API/CLI access using SAML 2.0, then configure the identity provider to enforce multi-factor authentication.

E. Create a role and enforce multi-factor authentication in the role trust polic

F. Instruct users to run the sts assume-role CLI command and pass --serial-number and --token-code parameter

G. Store the resultingvalues in environment variable

H. Add sts:AssumeRole to NotAction in the policy.

Answer: B

Explanation:
The correct answer is B. Instruct users to run the aws sts get-session-token CLI command and pass the multi-factor authentication --serial-number and --token-
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code parameters. Use these resulting values to make API/CLI calls.

According to the AWS documentationl, the aws sts get-session-token CLI command returns a set of temporary credentials for an AWS account or IAM user. The
credentials consist of an access key ID, a secret access key, and a security token. These credentials are valid for the specified duration only. The session duration
for IAM users can be between 15 minutes and 36 hours, with a default of 12 hours.

You can use the --serial-number and --token-code parameters to provide the MFA device serial number and the MFA code from the device. The MFA device must
be associated with the user who is making the

get-session-token call. If you do not provide these parameters when your IAM user or role has a policy that requires MFA, you will receive an Access Denied error.
The temporary security credentials that are returned by the get-session-token command can then be used to make subsequent API or CLI calls that require MFA
authentication. You can use environment variables or a profile in your AWS CLI configuration file to specify the temporary credentials.

Therefore, this solution will resolve the problem of users being unable to perform EC2 commands using the AWS CLI, while still enforcing MFA.

The other options are incorrect because:

> A. Changing the value of aws:MultiFactorAuthPresent to true will not work, because this is a condition key that is evaluated by AWS when a request is made.
You cannot set this value manually in your policy or request. You must provide valid MFA information to AWS for this condition key to be true.

> C. Implementing federated API/CLI access using SAML 2.0 may work, but it requires more operational effort than using the get-session-token command. You
would need to configure a SAML identity provider and trust relationship with AWS, and use a custom SAML client to request temporary credentials from AWS STS.
This solution may also introduce additional security risks if the identity provider is compromised.

> D. Creating a role and enforcing MFA in the role trust policy may work, but it also requires more operational effort than using the get-session-token command.
You would need to create a role for each user or group that needs to perform EC2 commands, and specify a trust policy that requires MFA. You would also need
to grant the users permission to assume the role, and instruct them to use the sts assume-role command instead of the get-session-token command.
References:

1: get-session-token — AWS CLI Command Reference

NEW QUESTION 6

A Security Architect has been asked to review an existing security architecture and identify why the application servers cannot successfully initiate a connection to
the database servers. The following summary describes the architecture:

* 1 An Application Load Balancer, an internet gateway, and a NAT gateway are configured in the public subnet

* 2. Database, application, and web servers are configured on three different private subnets.

* 3 The VPC has two route tables: one for the public subnet and one for all other subnets The route table for the public subnet has a 0 0 0 0/0 route to the internet
gateway The route table for all other subnets has a 0 0.0.0/0 route to the NAT gateway. All private subnets can route to each other

* 4 Each subnet has a network ACL implemented that limits all inbound and outbound connectivity to only the required ports and protocols

* 5 There are 3 Security Groups (SGs) database application and web Each group limits all inbound and outbound connectivity to the minimum required

Which of the following accurately reflects the access control mechanisms the Architect should verify1?

A. Outbound SG configuration on database servers Inbound SG configuration on application servers inbound and outbound network ACL configuration on the
database subnet Inbound and outbound network ACL configuration on the application server subnet

B. Inbound SG configuration on database servers Outbound SG configuration on application serversinbound and outbound network ACL configuration on the
database subnetinbound and outbound network ACL configuration on the application server subnet

C. Inbound and outbound SG configuration on database servers Inbound and outbound SG configuration on application servers Inbound network ACL
configuration on the database subnet Outbound network ACL configuration on the application server subnet

D. Inbound SG configuration on database servers Outbound SG configuration on application servers Inbound network ACL configuration on the database subnet
Outbound network ACL configuration on the application server subnet.

Answer: A

Explanation:

this is the accurate reflection of the access control mechanisms that the Architect should verify. Access control mechanisms are methods that regulate who can
access what resources and how. Security groups and network ACLs are two types of access control mechanisms that can be applied to EC2 instances and
subnets. Security groups are stateful, meaning they remember and return traffic that was previously allowed. Network ACLs are stateless, meaning they do not
remember or return traffic that was previously allowed. Security groups and network ACLs can have inbound and outbound rules that specify the source,
destination, protocol, and port of the traffic. By verifying the outbound security group configuration on database servers, the inbound security group configuration
on application servers, and the inbound and outbound network ACL configuration on both the database and application server subnets, the Architect can check if
there are any misconfigurations or conflicts that prevent the application servers from initiating a connection to the database servers. The other options are either
inaccurate or incomplete for verifying the access control mechanisms.

NEW QUESTION 7

A company is implementing new compliance requirements to meet customer needs. According to the new requirements the company must not use any Amazon
RDS DB instances or DB clusters that lack encryption of the underlying storage. The company needs a solution that will generate an email alert when an
unencrypted DB instance or DB cluster is created. The solution also must terminate the unencrypted DB instance or DB cluster.

Which solution will meet these requirements in the MOST operationally efficient manner?

A. Create an AWS Config managed rule to detect unencrypted ROS storag

B. Configure an automatic remediation action to publish messages to an Amazon Simple Notification Service (Amazon SNS) topic that includes an AWS Lambda
function and an email delivery target as subscriber

C. Configure the Lambda function to delete the unencrypted resource.

D. Create an AWS Config managed rule to detect unencrypted RDS storag

E. Configure a manual remediation action to invoke an AWS Lambda functio

F. Configure the Lambda function to publish messages to an Amazon Simple Notification Service (Amazon SNS) topic and to delete the unencrypted resource.
G. Create an Amazon EventBridge rule that evaluates RDS event patterns and is initiated by the creation of DB instances or DB clusters Configure the rule to
publish messages to an Amazon Simple Notification Service (Amazon SNS) topic that includes an AWS Lambda function and an email delivery target as
subscriber

H. Configure the Lambda function to delete the unencrypted resource.

I. Create an Amazon EventBridge rule that evaluates RDS event patterns and is initiated by the creation of DB instances or DB cluster

J. Configure the rule to invoke an AWS Lambda functio

K. Configure the Lambda function to publish messages to an Amazon Simple Notification Service (Amazon SNS) topic and to delete the unencrypted resource.

Answer: A

Explanation:
https://docs.aws.amazon.com/config/latest/developerguide/rds-storage-encrypted.html
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NEW QUESTION 8

A company plans to use AWS Key Management Service (AWS KMS) to implement an encryption strategy to protect data at rest. The company requires client-side
encryption for company projects. The company is currently conducting multiple projects to test the company's use of AWS KMS. These tests have led to a sudden
increase in the company's AWS resource consumption. The test projects include applications that issue multiple requests each second to KMS endpoints for
encryption activities.

The company needs to develop a solution that does not throttle the company's ability to use AWS KMS. The solution must improve key usage for client-side
encryption and must be cost optimized. Which solution will meet these requirements?

. Use keyrings with the AWS Encryption SD

. Use each keyring individually or combine keyrings into amulti-keyrin

. Decrypt the data by using a keyring that has the primary key in the multi-keyring.

. Use data key cachin

Use the local cache that the AWS Encryption SDK provides with a caching cryptographic materials manager.
Use KMS key rotatio

. Use a local cache in the AWS Encryption SDK with a caching cryptographic materials manager.

. Use keyrings with the AWS Encryption SD

I. Use each keyring individually or combine keyrings into a multi-keyrin

J. Use any of the wrapping keys in the multi-keyring to decrypt the data.

IOMmMOOw2

Answer: B

Explanation:

The correct answer is B. Use data key caching. Use the local cache that the AWS Encryption SDK provides with a caching cryptographic materials manager.

This answer is correct because data key caching can improve performance, reduce cost, and help the company stay within the service limits of AWS KMS. Data
key caching stores data keys and related cryptographic material in a cache, and reuses them for encryption and decryption operations. This reduces the number of
requests to AWS KMS endpoints and avoids throttling. The AWS Encryption SDK provides a local cache and a caching cryptographic materials manager (caching
CMM) that interacts with the cache and enforces security thresholds that the company can setl.

The other options are incorrect because:

> A. Using keyrings with the AWS Encryption SDK does not address the problem of throttling or cost optimization. Keyrings are used to generate, encrypt, and
decrypt data keys, but they do not cache or reuse them. Using each keyring individually or combining them into a multi-keyring does not reduce the number of
requests to AWS KMS endpoints2.

> C. Using KMS key rotation does not address the problem of throttling or cost optimization. Key rotation is a security practice that creates new cryptographic
material for a KMS key every year, but it does not affect the data that the KMS key protects. Key rotation does not reduce the number of requests to AWS KMS
endpoints, and it might incur additional costs for storing multiple versions of key material3.

> D. Using keyrings with the AWS Encryption SDK does not address the problem of throttling or cost optimization, as explained in option A. Moreover, using any
of the wrapping keys in the multi-keyring to decrypt the data is not a valid option, because only one of the wrapping keys can decrypt a given data key. The
wrapping key that encrypts a data key is stored in the encrypted data key structure, and only that wrapping key can decrypt it4.

References:

1: Data key caching - AWS Encryption SDK 2: Using keyrings - AWS Encryption SDK 3: Rotating AWS KMS keys - AWS Key Management Service 4: How
keyrings work - AWS Encryption SDK

NEW QUESTION 9

A company uses SAML federation to grant users access to AWS accounts. A company workload that is in an isolated AWS account runs on immutable
infrastructure with no human access to Amazon EC2. The company requires a specialized user known as a break glass user to have access to the workload AWS
account and instances in the case of SAML errors. A recent audit discovered that the company did not create the break glass user for the AWS account that
contains the workload.

The company must create the break glass user. The company must log any activities of the break glass user and send the logs to a security team.

Which combination of solutions will meet these requirements? (Select TWO.)

. Create a local individual break glass IAM user for the security tea
. Create a trail in AWS CloudTrail that has Amazon CloudWatch Logs turned o
. Use Amazon EventBridge to monitor local user activities.
. Create a break glass EC2 key pair for the AWS accoun
. Provide the key pair to the security tea
Use AWS CloudTrail to monitor key pair activit
. Send notifications to the security team by using Amazon Simple Notification Service (Amazon SNS).
. Create a break glass IAM role for the accoun
I. Allow security team members to perform the AssumeRoleWithSAML operatio
J. Create an AWS Cloud Trall trail that has Amazon CloudWatch Logs turned o
K. Use Amazon EventBridge to monitor security team activities.
L. Create a local individual break glass IAM user on the operating system level of each workload instance.Configure unrestricted security groups on the instances
to grant access to the break glass IAM users.
M. Configure AWS Systems Manager Session Manager for Amazon EC2. Configure an AWS Cloud Tralil filter based on Session Manage
N. Send the results to an Amazon Simple Notification Service (Amazon SNS) topic.

ITOMMOoOO®>

Answer: AE

Explanation:
The combination of solutions that will meet the requirements are:

> A. Create a local individual break glass IAM user for the security team. Create a trail in AWS CloudTrail that has Amazon CloudWatch Logs turned on. Use
Amazon EventBridge to monitor local user activities. This is a valid solution because it allows the security team to access the workload AWS account and
instances using a local IAM user that does not depend on SAML federation. It also enables logging and monitoring of the break glass user activities using AWS
CloudTrail, Amazon CloudWatch Logs, and Amazon EventBridge123.

> E. Configure AWS Systems Manager Session Manager for Amazon EC2. Configure an AWS CloudTrail filter based on Session Manager. Send the results to
an Amazon Simple Notification Service (Amazon SNS) topic. This is a valid solution because it allows the security team to access the workload instances without
opening any inbound ports or managing SSH keys or bastion hosts. It also enables logging and notification of the break glass user activities using AWS CloudTrail,
Session Manager, and Amazon SNS456.

The other options are incorrect because:

> B. Creating a break glass EC2 key pair for the AWS account and providing it to the security team is not a valid solution, because it requires opening inbound
ports on the instances and managing SSH keys, which increases the security risk and complexity7.

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



y Exam Recommend!! Get the Full SCS-C02 dumps in VCE and PDF From SurePassExam
L' Sure https://www.surepassexam.com/SCS-C02-exam-dumps.html (235 New Questions)

> C. Creating a break glass 1AM role for the account and allowing security team members to perform the AssumeRoleWithSAML operation is not a valid solution,
because it still depends on SAML federation, which might not work in case of SAML errors8.

> D. Creating a local individual break glass IAM user on the operating system level of each workload instance and configuring unrestricted security groups on the
instances to grant access to the break glass IAM users is not a valid solution, because it requires opening inbound ports on the instances and managing multiple
local users, which increases the security risk and complexity9.

References:

1: Creating an IAM User in Your AWS Account 2: Creating a Trail - AWS CloudTrail 3: Using Amazon EventBridge with AWS CloudTrail 4: Setting up Session
Manager - AWS Systems Manager 5: Logging Session Manager sessions - AWS Systems Manager 6: Amazon Simple Notification Service 7: Connecting to your
Linux instance using SSH - Amazon Elastic Compute Cloud 8: AssumeRoleWithSAML - AWS Security Token Service 9: IAM Users - AWS Identity and Access
Management

NEW QUESTION 10

A company's Chief Security Officer has requested that a Security Analyst review and improve the security posture of each company IAM account The Security
Analyst decides to do this by Improving IAM account root user security.

Which actions should the Security Analyst take to meet these requirements? (Select THREE.)

A. Delete the access keys for the account root user in every account.

B. Create an admin IAM user with administrative privileges and delete the account root user in every account.

C. Implement a strong password to help protect account-level access to the IAM Management Console by the account root user.

D. Enable multi-factor authentication (MFA) on every account root user in all accounts.

E. Create a custom IAM policy to limit permissions to required actions for the account root user and attach the policy to the account root user.
F. Attach an IAM role to the account root user to make use of the automated credential rotation in IAM STS.

Answer: ADE

Explanation:

because these are the actions that can improve 1AM account root user security. IAM account root user is a user that has complete access to all AWS resources
and services in an account. IAM account root user security is a set of best practices that help protect the account root user from unauthorized or accidental use.
Deleting the access keys for the account root user in every account can help prevent programmatic access by the account root user, which reduces the risk of
compromise or misuse. Enabling MFA on every account root user in all accounts can help add an extra layer of security for console access by requiring a
verification code in addition to a password. Creating a custom IAM policy to limit permissions to required actions for the account root user and attaching the policy
to the account root user can help enforce the principle of least privilege and restrict the account root user from performing unnecessary or dangerous actions. The
other options are either invalid or ineffective for improving IAM account root user security.

NEW QUESTION 10

An Incident Response team is investigating an IAM access key leak that resulted in Amazon EC2 instances being launched. The company did not discover the
incident until many months later The Director of Information Security wants to implement new controls that will alert when similar incidents happen in the future
Which controls should the company implement to achieve this? {Select TWO.)

A. Enable VPC Flow Logs in all VPCs Create a scheduled IAM Lambda function that downloads and parses the logs, and sends an Amazon SNS natification for
violations.

B. Use IAM CloudTrail to make a trail, and apply it to all Regions Specify an Amazon S3 bucket to receive all the CloudTrail log files

C. Add the following bucket policy to the company's IAM CloudTrail bucket to prevent log tampering{"Version": "2012-10-17-,"Statement": { "Effect":
"Deny","Action": "s3:PutObject", "Principal™: "-","Resource": "arn:IAM:s3:::cloudtrail/lAML0gs/111122223333/*'}}Create an Amazon S3 data event for an PutObject
attempts, which sends notifications to an Amazon SNS topic.

D. Create a Security Auditor role with permissions to access Amazon CloudWatch Logs m all Regions Ship the logs to an Amazon S3 bucket and make a lifecycle
policy to ship the logs to Amazon S3 Glacier.

E. Verify that Amazon GuardDuty is enabled in all Regions, and create an Amazon CloudWatch Events rule for Amazon GuardDuty findings Add an Amazon SNS
topic as the rule's target

Answer: AE

NEW QUESTION 14

A company has a legacy application that runs on a single Amazon EC2 instance. A security audit shows that the application has been using an IAM access key
within its code to access an Amazon S3 bucket that is named DOC-EXAMPLE-BUCKET1 in the same AWS account. This access key pair has the s3:GetObject
permission to all objects in only this S3 bucket. The company takes the application offline because the application is not compliant with the company’s security
policies for accessing other AWS resources from Amazon EC2.

A security engineer validates that AWS CloudTrail is turned on in all AWS Regions. CloudTrail is sending logs to an S3 bucket that is named DOC-EXAMPLE-
BUCKET2. This S3 bucket is in the same AWS account as DOC-EXAMPLE-BUCKET1. However, CloudTrail has not been configured to send logs to Amazon
CloudWatch Logs.

The company wants to know if any objects in DOC-EXAMPLE-BUCKET1 were accessed with the IAM access key in the past 60 days. If any objects were
accessed, the company wants to know if any of the objects that are text files (.txt extension) contained personally identifiable information (PII).

Which combination of steps should the security engineer take to gather this information? (Choose two.)

A. Configure Amazon Macie to identify any objects in DOC-EXAMPLE-BUCKET1 that contain PIl and that were available to the access key.

B. Use Amazon CloudWatch Logs Insights to identify any objects in DOC-EXAMPLE-BUCKET1 that contain PIl and that were available to the access key.

C. Use Amazon OpenSearch Service (Amazon Elasticsearch Service) to query the CloudTrail logs in DOC-EXAMPLE-BUCKET?2 for API calls that used the access
key to access an object that contained PII.

D. Use Amazon Athena to query the CloudTrail logs in DOC-EXAMPLE-BUCKET2 for any API calls that used the access key to access an object that contained
PIL.

E. Use AWS ldentity and Access Management Access Analyzer to identify any API calls that used the access key to access objects that contained Pl in DOC-
EXAMPLE-BUCKET1.

Answer: AD

NEW QUESTION 15
Which of the following are valid configurations for using SSL certificates with Amazon CloudFront? (Select THREE )
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A. Default AWS Certificate Manager certificate

B. Custom SSL certificate stored in AWS KMS

C. Default CloudFront certificate

D. Custom SSL certificate stored in AWS Certificate Manager
E. Default SSL certificate stored in AWS Secrets Manager

F. Custom SSL certificate stored in AWS IAM

Answer: ABC

Explanation:

The key length for an RSA certificate that you use with CloudFront is 2048 bits, even though ACM supports larger keys. If you use an imported certificate with
CloudFront, your key length must be 1024 or 2048 bits and cannot exceed 2048 bits. You must import the certificate in the US East (N. Virginia) Region. You must
have permission to use and import the SSL/TLS certificate
https://docs.aws.amazon.com/AmazonCloudFront/latest/DeveloperGuide/cnames-and-https-requirements.htmi

NEW QUESTION 19

A company uses AWS Organizations to manage a multi-accountAWS environment in a single AWS Region. The organization's management account is named
management-01. The company has turned on AWS Config in all accounts in the organization. The company has designated an account named security-01 as the
delegated administra-tor for AWS Config.

All accounts report the compliance status of each account's rules to the AWS Config delegated administrator account by using an AWS Config aggregator. Each
account administrator can configure and manage the account's own AWS Config rules to handle each account's unique compliance requirements.

A security engineer needs to implement a solution to automatically deploy a set of 10 AWS Config rules to all existing and future AWS accounts in the organiza-
tion. The solution must turn on AWS Config automatically during account crea-tion.

Which combination of steps will meet these requirements? (Select TWO.)

. Create an AWS CloudFormation template that contains the 1 0 required AVVS Config rule
. Deploy the template by using CloudFormation StackSets in the security-01 account.
. Create a conformance pack that contains the 10 required AWS Config rule
. Deploy the conformance pack from the security-01 account.
. Create a conformance pack that contains the 10 required AWS Config rule
Deploy the conformance pack from the management-01 account.
. Create an AWS CloudFormation template that will activate AWS Confi
. De-ploy the template by using CloudFormation StackSets in the security-01 ac-count.
I. Create an AWS CloudFormation template that will activate AWS Confi
J. De-ploy the template by using CloudFormation StackSets in the management-01 account.

IOMNMMmMmOoOO >

Answer: BE

NEW QUESTION 23

A security engineer must troubleshoot an administrator's inability to make an existing Amazon S3 bucket public in an account that is part of an organization n IAM
Organizations. The administrator switched the role from the master account to a member account and then attempted to make one S3 bucket public. This action
was immediately denied

Which actions should the security engineer take to troubleshoot the permissions issue? (Select TWO.)

A. Review the cross-account role permissions and the S3 bucket policy Verify that the Amazon S3 block public access option in the member account is
deactivated.

B. Review the role permissions m the master account and ensure it has sufficient privileges to perform S3 operations

C. Filter IAM CloudTrail logs for the master account to find the original deny event and update the cross-account role m the member account accordingly Verify
that the Amazon S3 block public access option in the master account is deactivated.

D. Evaluate the SCPs covering the member account and the permissions boundary of the role in the member account for missing permissions and explicit denies.
E. Ensure the S3 bucket policy explicitly allows the s3 PutBucketPublicAccess action for the role m the member account

Answer: DE

Explanation:

> A is incorrect because reviewing the cross-account role permissions and the S3 bucket policy is not enough to troubleshoot the permissions issue. You also
need to verify that the Amazon S3 block public access option in the member account is deactivated, as well as the permissions boundary and the SCPs of the role
in the member account.

> D is correct because evaluating the SCPs and the permissions boundary of the role in the member account can help you identify any missing permissions or
explicit denies that could prevent the administrator from making the S3 bucket public.

> E is correct because ensuring that the S3 bucket policy explicitly allows the s3 PutBucketPublicAccess action for the role in the member account can help you
override any block public access settings that could prevent the administrator from making the S3 bucket public.

NEW QUESTION 28
A security engineer is using AWS Organizations and wants to optimize SCPs. The security engineer needs to ensure that the SCPs conform to best practices.
Which approach should the security engineer take to meet this requirement?

A. Use AWS IAM Access Analyzer to analyze the policie

B. View the findings from policy validation checks.

C. Review AWS Trusted Advisor checks for all accounts in the organization.

D. Set up AWS Audit Manage

E. Run an assessment for all AWS Regions for all accounts.

F. Ensure that Amazon Inspector agents are installed on all Amazon EC2 in-stances in all accounts.

Answer: A

NEW QUESTION 29
A company used a lift-and-shift approach to migrate from its on-premises data centers to the AWS Cloud. The company migrated on-premises VMS to Amazon
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EC2 in-stances. Now the company wants to replace some of components that are running on the EC2 instances with managed AWS services that provide similar
functionality.

Initially, the company will transition from load balancer software that runs on EC2 instances to AWS Elastic Load Balancers. A security engineer must ensure that
after this transition, all the load balancer logs are centralized and searchable for auditing. The security engineer must also ensure that metrics are generated to
show which ciphers are in use.

Which solution will meet these requirements?

A. Create an Amazon CloudWatch Logs log grou

B. Configure the load balancers to send logs to the log grou

C. Use the CloudWatch Logs console to search the log

D. Create CloudWatch Logs filters on the logs for the required met-rics.
E. Create an Amazon S3 bucke

F. Configure the load balancers to send logs to the S3 bucke

G. Use Amazon Athena to search the logs that are in the S3 bucke

H. Create Amazon CloudWatch filters on the S3 log files for the re-quired metrics.
I. Create an Amazon S3 bucke

J. Configure the load balancers to send logs to the S3 bucke

K. Use Amazon Athena to search the logs that are in the S3 bucke

L. Create Athena queries for the required metric

M. Publish the metrics to Amazon CloudWatch.

N. Create an Amazon CloudWatch Logs log grou

O. Configure the load balancers to send logs to the log grou

P. Use the AWS Management Console to search the log

Q. Create Amazon Athena queries for the required metric

R. Publish the metrics to Amazon CloudWatch.

Answer: C

Explanation:

> Amazon S3 is a service that provides scalable, durable, and secure object storage. You can use Amazon S3 to store and retrieve any amount of data from
anywhere on the webl

> AWS Elastic Load Balancing is a service that distributes incoming application or network traffic across multiple targets, such as EC2 instances, containers, or
IP addresses. You can use Elastic Load Balancing to increase the availability and fault tolerance of your applications2

> Elastic Load Balancing supports access logging, which captures detailed information about requests sent to your load balancer. Each log contains information
such as the time the request was received, the client’s IP address, latencies, request paths, and server responses. You can use access logs to analyze traffic
patterns and troubleshoot issues3

> You can configure your load balancer to store access logs in an Amazon S3 bucket that you specify.
You can also specify the interval for publishing the logs, which can be 5 or 60 minutes. The logs are stored in a hierarchical folder structure by load balancer name,
IP address, year, month, day, and time.

> Amazon Athena is a service that allows you to analyze data in Amazon S3 using standard SQL. You can use Athena to run ad-hoc queries and get results in
seconds. Athena is serverless, so there is no infrastructure to manage and you pay only for the queries that you run.

> You can use Athena to search the access logs that are stored in your S3 bucket. You can create a table in Athena that maps to your S3 bucket and then run
SQL queries on the table. You can also use the Athena console or API to view and download the query results.

> You can also use Athena to create queries for the required metrics, such as the number of requests per cipher or protocol. You can then publish the metrics to
Amazon CloudWatch, which is a service that monitors and manages your AWS resources and applications. You can use CloudWatch to collect and track metrics,
create alarms, and automate actions based on the state of your resources.

> By using this solution, you can meet the requirements of ensuring that all the load balancer logs are centralized and searchable for auditing and that metrics
are generated to show which ciphers are in use.

NEW QUESTION 30

A company created an IAM account for its developers to use for testing and learning purposes Because MM account will be shared among multiple teams of
developers, the company wants to restrict the ability to stop and terminate Amazon EC2 instances so that a team can perform these actions only on the instances
it owns.

Developers were Instructed to tag al their instances with a Team tag key and use the team name in the tag value One of the first teams to use this account is
Business Intelligence A security engineer needs to develop a highly scalable solution for providing developers with access to the appropriate resources within the
account The security engineer has already created individual IAM roles for each team.

Which additional configuration steps should the security engineer take to complete the task?

A. For each team, create an AM policy similar to the one that fellows Populate the ec2: ResourceTag/Team condition key with a proper team name Attach resulting
policies to the corresponding IAM roles.
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B. For each team create an IAM policy similar to the one that follows Populate the IAM TagKeys/Team condition key with a proper team nam
C. Attach the resuming policies to the corresponding IAM roles.

D. Tag each IAM role with a Team lag ke
E. and use the team name in the tag valu
F. Create an IAM policy similar to the one that follows, and attach 4 to all the IAM roles used by developers. s

G. Tag each IAM role with the Team key, and use the team name in the tag valu
H. Create an IAM policy similar to the one that follows, and it to all the IAM roles used by developers.
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Answer: A

NEW QUESTION 35
Your CTO is very worried about the security of your IAM account. How best can you prevent hackers from completely hijacking your account?
Please select:

A. Use short but complex password on the root account and any administrators.

B. Use IAM IAM Geo-Lock and disallow anyone from logging in except for in your city.

C. Use MFA on all users and accounts, especially on the root account.

D. Don't write down or remember the root account password after creating the IAM account.

Answer: C

Explanation:

Multi-factor authentication can add one more layer of security to your IAM account Even when you go to your Security Credentials dashboard one of the items is to
enable MFA on your root account
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Option A is invalid because you need to have a good password policy Option B is invalid because there is no IAM Geo-Lock Option D is invalid because this is not
a recommended practices For more information on MFA, please visit the below URL

http://docs.IAM.amazon.com/IAM/latest/UserGuide/id

credentials mfa.htmll

The correct answer is: Use MFA on all users and accounts, especially on the root account. Submit your Feedback/Queries to our Experts

NEW QUESTION 36

A developer is building a serverless application hosted on AWS that uses Amazon Redshift as a data store The application has separate modules for readwrite
and read-only functionality The modules need their own database users for compliance reasons

Which combination of steps should a security engineer implement to grant appropriate access? (Select TWO.)

A. Configure cluster security groups for each application module to control access to database users that are required for read-only and readwrite

B. Configure a VPC endpoint for Amazon Redshift Configure an endpoint policy that maps database users to each application module, and allow access to the
tables that are required for read-only and read/write

C. Configure an 1AM policy for each module Specify the ARN of an Amazon Redshift database user that allows the GetClusterCredentials API call

D. Create local database users for each module

E. Configure an 1AM policy for each module Specify the ARN of an 1AM user that allows the GetClusterCredentials API call

Answer: A

Explanation:

To grant appropriate access to separate modules for read-write and read-only functionality in a serverless

application hosted on AWS that uses Amazon Redshift as a data store, a security engineer should configure cluster security groups for each application module to
control access to database users that are required for read-only and readwrite, and configure an IAM policy for each module specifying the ARN of an IAM user
that allows the GetClusterCredentials API call.

References: : Amazon Redshift - Amazon Web Services : Amazon Redshift - Amazon Web Services : Identity and Access Management - AWS Management
Console : AWS Identity and Access Management - AWS Management Console

NEW QUESTION 39

A company has recently recovered from a security incident that required the restoration of Amazon EC2 instances from snapshots.

After performing a gap analysis of its disaster recovery procedures and backup strategies, the company is concerned that, next time, it will not be able to recover
the EC2 instances if the AWS account was compromised and Amazon EBS snapshots were deleted.

All EBS snapshots are encrypted using an AWS KMS CMK. Which solution would solve this problem?
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A. Create a new Amazon S3 bucke

B. Use EBS lifecycle policies to move EBS snapshots to the new S3 bucke

C. Move snapshots to Amazon S3 Glacier using lifecycle policies, and apply Glacier Vault Lock policies to prevent deletion.

D. Use AWS Systems Manager to distribute a configuration that performs local backups of all attached disks to Amazon S3.

E. Create a new AWS account with limited privilege

F. Allow the new account to access the AWS KMS key used to encrypt the EBS snapshots, and copy the encrypted snapshots to the new account on a recurring
basis.

G. Use AWS Backup to copy EBS snapshots to Amazon S3.

Answer: C

Explanation:

This answer is correct because creating a new AWS account with limited privileges would provide an isolated and secure backup destination for the EBS
snapshots. Allowing the new account to access the AWS KMS key used to encrypt the EBS snapshots would enable cross-account snapshot sharing without
requiring re-encryption. Copying the encrypted snapshots to the new account on a recurring basis would ensure that the backups are up-to-date and consistent.

NEW QUESTION 42

A company uses AWS Organizations and has production workloads across multiple AWS accounts. A security engineer needs to design a solution that will
proactively monitor for suspicious behavior across all the accounts that contain production workloads.

The solution must automate remediation of incidents across the production accounts. The solution also must publish a notification to an Amazon Simple
Notification Service (Amazon SNS) topic when a critical security finding is detected. In addition, the solution must send all security incident logs to a dedicated
account.

Which solution will meet these requirements?

A. Activate Amazon GuardDuty in each production accoun

B. In a dedicated logging accoun

C. aggregate all GuardDuty logs from each production accoun

D. Remediate incidents by configuring GuardDuty to directly invoke an AWS Lambda functio

E. Configure the Lambda function to also publish notifications to the SNS topic.

F. Activate AWS security Hub in each production accoun

G. In a dedicated logging accoun

H. aggregate all security Hub findings from each production accoun

I. Remediate incidents by ustng AWS Config and AWS Systems Manage

J. Configure Systems Manager to also pub11Sh notifications to the SNS topic.

K. Activate Amazon GuardDuty in each production accoun

L. In a dedicated logging accoun

M. aggregate all GuardDuty logs from each production account Remediate incidents by using Amazon EventBridge to invoke a custom AWS Lambda function from
the GuardDuty finding

N. Configure the Lambda function to also publish notifications to the SNS topic.

O. Activate AWS Security Hub in each production accoun

P. In a dedicated logging accoun

Q. aggregate all Security Hub findings from each production accoun

R. Remediate incidents by using Amazon EventBridge to invoke a custom AWS Lambda function from the Security Hub finding
S. Configure the Lambda function to also publish notifications to the SNS topic.

Answer: D

Explanation:

The correct answer is D.

To design a solution that will proactively monitor for suspicious behavior across all the accounts that contain production workloads, the security engineer needs to
use a service that can aggregate and analyze security findings from multiple sources. AWS Security Hub is a service that provides a comprehensive view of your
security posture across your AWS accounts and enables you to check your environment against security standards and best practices. Security Hub also
integrates with other AWS services, such as Amazon GuardDuty, AWS Config, and AWS Systems Manager, to collect and correlate security findings.

To automate remediation of incidents across the production accounts, the security engineer needs to use a service that can trigger actions based on events.
Amazon EventBridge is a serverless event bus service that allows you to connect your applications with data from a variety of sources. EventBridge can use rules
to match events and route them to targets for processing. You can use EventBridge to invoke a custom AWS Lambda function from the Security Hub findings.
Lambda is a serverless compute service that lets you run code without provisioning or managing servers.

To publish a notification to an Amazon SNS topic when a critical security finding is detected, the security engineer needs to use a service that can send messages
to subscribers. Amazon SNS is a fully managed messaging service that enables you to decouple and scale microservices, distributed systems, and serverless
applications. SNS can deliver messages to a variety of endpoints, such as email, SMS, or HTTP. You can configure the Lambda function to also publish
notifications to the SNS topic.

To send all security incident logs to a dedicated account, the security engineer needs to use a service that can aggregate and store log data from multiple sources.
AWS Security Hub allows you to aggregate security findings from multiple accounts into a single account using the delegated administrator feature. This feature
enables you to designate an AWS account as the administrator for Security Hub in an organization. The administrator account can then view and manage Security
Hub findings from all member accounts.

Therefore, option D is correct because it meets all the requirements of the solution. Option A is incorrect because GuardDuty does not provide a comprehensive
view of your security posture across your AWS accounts. GuardDuty is primarily a threat detection service that monitors for malicious or unauthorized behavior.
Option B is incorrect because Config and Systems Manager are not designed to automate remediation of incidents based on Security Hub findings. Config is a
service that enables you to assess, audit, and evaluate the configurations of your AWS resources, while Systems Manager is a service that allows you to manage
your infrastructure on AWS at scale. Option C is incorrect because GuardDuty does not provide a comprehensive view of your security posture across your AWS
accounts.

References:

> AWS Security Hub

> Amazon EventBridge

> AWS Lambda

> Amazon SNS

> Aggregating Security Hub findings across accounts

NEW QUESTION 43
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A company purchased a subscription to a third-party cloud security scanning solution that integrates with AWS Security Hub. A security engineer needs to
implement a solution that will remediate the findings
from the third-party scanning solution automatically. Which solution will meet this requirement?

A. Set up an Amazon EventBridge rule that reacts to new Security Hub find-ing

B. Configure an AWS Lambda function as the target for the rule to reme-diate the findings.

C. Set up a custom action in Security Hu

D. Configure the custom action to call AWS Systems Manager Automation runbooks to remediate the findings.
E. Set up a custom action in Security Hu

F. Configure an AWS Lambda function as the target for the custom action to remediate the findings.

G. Set up AWS Config rules to use AWS Systems Manager Automation runbooks to remediate the findings.

Answer: A

NEW QUESTION 46

A business requires a forensic logging solution for hundreds of Docker-based apps running on Amazon EC2. The solution must analyze logs in real time, provide
message replay, and persist logs.

Which Amazon Web Offerings (IAM) services should be employed to satisfy these requirements? (Select two.)

A. Amazon Athena

B. Amazon Kinesis

C. Amazon SQS

D. Amazon Elasticsearch
E. Amazon EMR

Answer: BD

NEW QUESTION 50

A company’s public Application Load Balancer (ALB) recently experienced a DDoS attack. To mitigate this issue. the company deployed Amazon CloudFront in
front of the ALB so that users would not directly access the Amazon EC2 instances behind the ALB.

The company discovers that some traffic is still coming directly into the ALB and is still being handled by the EC2 instances.

Which combination of steps should the company take to ensure that the EC2 instances will receive traffic only from CloudFront? (Choose two.)

A. Configure CloudFront to add a cache key policy to allow a custom HTTP header that CloudFront sends to the ALB.

B. Configure CloudFront to add a custom: HTTP header to requests that CloudFront sends to the ALB.

C. Configure the ALB to forward only requests that contain the custom HTTP header.

D. Configure the ALB and CloudFront to use the X-Forwarded-For header to check client IP addresses.

E. Configure the ALB and CloudFront to use the same X.509 certificate that is generated by AWS Certificate Manager (ACM).

Answer: BC

Explanation:

To prevent users from directly accessing an Application Load Balancer and allow access only through CloudFront, complete these high-level steps: Configure
CloudFront to add a custom HTTP header to requests that it sends to the Application Load Balancer. Configure the Application Load Balancer to only forward
requests that contain the custom HTTP header. (Optional) Require HTTPS to improve the security of this solution.
https://docs.aws.amazon.com/AmazonCloudFront/latest/DeveloperGuide/restrict-access-to-load-balancer.htmi

NEW QUESTION 53

A company's Security Team received an email notification from the Amazon EC2 Abuse team that one or more of the company's Amazon EC2 instances may have
been compromised

Which combination of actions should the Security team take to respond to (be current modem? (Select TWO.)

A. Open a support case with the IAM Security team and ask them to remove the malicious code from the affected instance

B. Respond to the notification and list the actions that have been taken to address the incident

C. Delete all IAM users and resources in the account

D. Detach the internet gateway from the VPC remove aft rules that contain 0.0.0.0VO0 from the security groups, and create a NACL rule to deny all traffic Inbound
from the internet

E. Delete the identified compromised instances and delete any associated resources that the Security team did not create.

Answer: DE

Explanation:

these are the recommended actions to take when you receive an abuse notice from AWSS8. You should review the abuse notice to see what content or activity was
reported and detach the internet gateway from the VPC to isolate the affected instances from the internet. You should also remove any rules that allow inbound
traffic from 0.0.0.0/0 from the security groups and create a network access control list (NACL) rule to deny all traffic inbound from the internet. You should then
delete the compromised instances and any associated resources

that you did not create. The other options are either inappropriate or unnecessary for responding to the abuse notice.

NEW QUESTION 57

A company is using Amazon Route 53 Resolver for its hybrid DNS infrastructure. The company has set up Route 53 Resolver forwarding rules for authoritative
domains that are hosted on on-premises DNS servers.

A new security mandate requires the company to implement a solution to log and query DNS traffic that goes to the on-premises DNS servers. The logs must show
details of the source IP address of the instance from which the query originated. The logs also must show the DNS name that was requested in Route 53 Resolver.
Which solution will meet these requirements?

A. Use VPC Traffic Mirrorin

B. Configure all relevant elastic network interfaces as the traffic source, include amazon-dns in the mirror filter, and set Amazon CloudWatch Logs as the mirror
targe

C. Use CloudWatch Insights on the mirror session logs to run queries on the source IP address and DNS name.
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D. Configure VPC flow logs on all relevant VPC

E. Send the logs to an Amazon S3 bucke

F. Use Amazon Athena to run SQL queries on the source IP address and DNS name.

G. Configure Route 53 Resolver query logging on all relevant VPC

H. Send the logs to Amazon CloudWatch Log

I. Use CloudWatch Insights to run queries on the source IP address and DNS name.

J. Modify the Route 53 Resolver rules on the authoritative domains that forward to the on-premises DNS server
K. Send the logs to an Amazon S3 bucke

L. Use Amazon Athena to run SQL queries on the source IP address and DNS name.

Answer: C

Explanation:

The correct answer is C. Configure Route 53 Resolver query logging on all relevant VPCs. Send the logs to Amazon CloudWatch Logs. Use CloudWatch Insights
to run queries on the source IP address and DNS name.

According to the AWS documentationl, Route 53 Resolver query logging lets you log the DNS queries that Route 53 Resolver handles for your VPCs. You can
send the logs to CloudWatch Logs, Amazon S3, or Kinesis Data Firehose. The logs include information such as the following:

> The AWS Region where the VPC was created

> The ID of the VPC that the query originated from

> The IP address of the instance that the query originated from
> The instance ID of the resource that the query originated from
> The date and time that the query was first made

> The DNS name requested (such as prod.example.com)

> The DNS record type (such as A or AAAA)

> The DNS response code, such as NoError or ServFail

> The DNS response data, such as the IP address that is returned in response to the DNS query

You can use CloudWatch Insights to run queries on your log data and analyze the results using graphs and statistics2. You can filter and aggregate the log data
based on any field, and use operators and functions to perform calculations and transformations. For example, you can use CloudWatch Insights to find out how
many queries were made for a specific domain name, or which instances made the most queries.

Therefore, this solution meets the requirements of logging and querying DNS traffic that goes to the

on-premises DNS servers, showing details of the source IP address of the instance from which the query originated, and the DNS name that was requested in
Route 53 Resolver.

The other options are incorrect because:

> A. Using VPC Traffic Mirroring would not capture the DNS queries that go to the on-premises DNS servers, because Traffic Mirroring only copies network traffic
from an elastic network interface of an EC2 instance to a target for analysis3. Traffic Mirroring does not include traffic that goes through a Route 53 Resolver
outbound endpoint, which is used to forward queries to on-premises DNS servers4. Therefore, this solution would not meet the requirements.

> B. Configuring VPC flow logs on all relevant VPCs would not capture the DNS name that was requested in Route 53 Resolver, because flow logs only record
information about the IP traffic going to and from network interfaces in a VPC5. Flow logs do not include any information about the content or payload of a packet,
such as a DNS query or response. Therefore, this solution would not meet the requirements.

> D. Modifying the Route 53 Resolver rules on the authoritative domains that forward to the on-premises DNS servers would not enable logging of DNS queries,
because Resolver rules only specify how to forward queries for specified domain names to your network6. Resolver rules do not have any logging

functionality by themselves. Therefore, this solution would not meet the requirements. References:

1: Resolver query logging - Amazon Route 53 2: Analyzing log data with CloudWatch Logs Insights - Amazon CloudWatch 3: What is Traffic Mirroring? - Amazon
Virtual Private Cloud 4: Outbound Resolver endpoints - Amazon Route 53 5: Logging IP traffic using VPC Flow Logs - Amazon Virtual Private Cloud 6: Managing
forwarding rules - Amazon Route 53

NEW QUESTION 58

A security engineer is designing an 1AM policy for a script that will use the AWS CLI. The script currently assumes an |IAM role that is attached to three AWS
managed IAM policies: AmazonEC2FullAccess, AmazonDynamoDBFullAccess, and Ama-zonVPCFullAccess.

The security engineer needs to construct a least privilege IAM policy that will replace the AWS managed IAM policies that are attached to this role.

Which solution will meet these requirements in the MOST operationally efficient way?

A. In AWS CloudTrall, create a trail for management event

B. Run the script with the existing AWS managed IAM policie

C. Use IAM Access Analyzer to generate a new |IAM policy that is based on access activity in the trai
D. Replace the existing AWS managed IAM policies with the generated IAM poli-cy for the role.

E. Remove the existing AWS managed IAM policies from the rol

F. Attach the IAM Access Analyzer Role Policy Generator to the rol

G. Run the scrip

H. Return to IAM Access Analyzer and generate a least privilege 1AM polic

I. Attach the new IAM policy to the role.

J. Create an account analyzer in IAM Access Analyze

K. Create an archive rule that has a filter that checks whether the PrincipalArn value matches the ARN of the rol
L. Run the scrip

M. Remove the existing AWS managed IAM poli-cies from the role.

N. In AWS CloudTrail, create a trail for management event

O. Remove the exist-ing AWS managed IAM policies from the rol

P. Run the scrip

Q. Find the au-thorization failure in the trail event that is associated with the scrip

R. Create a new IAM policy that includes the action and resource that caused the authorization failur
S. Repeat the process until the script succeed

T. Attach the new IAM policy to the role.

Answer: A

NEW QUESTION 59
A company has multiple Amazon S3 buckets encrypted with customer-managed CMKs Due to regulatory requirements the keys must be rotated every year. The
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company's Security Engineer has enabled automatic key rotation for the CMKs; however the company wants to verity that the rotation has occurred.
What should the Security Engineer do to accomplish this?

A. Filter IAM CloudTrail logs for KeyRotaton events

B. Monitor Amazon CloudWatcn Events for any IAM KMS CMK rotation events

C. Using the IAM CL

D. run the IAM kms gel-key-relation-status operation with the --key-id parameter to check the CMK rotation date
E. Use Amazon Athena to query IAM CloudTrail logs saved in an S3 bucket to filter Generate New Key events

Answer: C

Explanation:
the aws kms get-key-rotation-status command returns a boolean value that indicates whether automatic rotation of the customer master key (CMK) is enabled1.
This command also shows the date and time when the CMK was last rotated2. The other options are not valid ways to check the CMK rotation status.

NEW QUESTION 64

A company uses Amazon AP| Gateway to present REST APIs to users. An API developer wants to analyze API access patterns without the need to parse the log
files.

Which combination of steps will meet these requirements with the LEAST effort? (Select TWO.)

. Configure access logging for the required API stage.
. Configure an AWS CloudTrail trail destination for APl Gateway event
. Configure filters on the userldentity, userAgent, and sourcelPAddress fields.
. Configure an Amazon S3 destination for APl Gateway log
Run Amazon Athena queries to analyze API access information.
Use Amazon CloudWatch Logs Insights to analyze API access information.
. Select the Enable Detailed CloudWatch Metrics option on the required API stage.

OTMMOUO®>

Answer: CD

NEW QUESTION 65

A company needs to store multiple years of financial records. The company wants to use Amazon S3 to store copies of these documents. The company must
implement a solution to prevent the documents from being edited, replaced, or deleted for 7 years after the documents are stored in Amazon S3. The solution must
also encrypt the documents at rest.

A security engineer creates a new S3 bucket to store the documents. What should the security engineer do next to meet these requirements?

A. Configure S3 server-side encryptio

B. Create an S3 bucket policy that has an explicit deny rule for all users for s3:DeleteObject and s3:PutObject API call
C. Configure S3 Object Lock to use governance mode with a retention period of 7 years.

D. Configure S3 server-side encryptio

E. Configure S3 Versioning on the S3 bucke

F. Configure S3 ObjectLock to use compliance mode with a retention period of 7 years.

G. Configure S3 Versionin

H. Configure S3 Intelligent-Tiering on the S3 bucket to move the documents to S3 Glacier Deep Archive storag

I. Use S3 server-side encryption immediatel

J. Expire the objects after 7 years.

K. Set up S3 Event Notifications and use S3 server-side encryptio

L. Configure S3 Event Notifications to target an AWS Lambda function that will review any S3 API call to the S3 bucket and deny the s3:DeleteObject and
s3:PutObject API call

M. Remove the S3 event notification after 7 years.

Answer: B

NEW QUESTION 70
A company is using IAM Organizations. The company wants to restrict IAM usage to the eu-west-1 Region for all accounts under an OU that is named
"development." The solution must persist restrictions to existing and new IAM accounts under the development OU.
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A Include the following SCP on the development OU
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 74
Which of the following bucket policies will ensure that objects being uploaded to a bucket called ‘demo’ are encrypted.
Please select:

A. C:\Users\wk\Desktop\mudassar\Untitled.jpg
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"Wersion":"2012-10-17",
"Id":"PutObj",

"Statement™[{
"Sid":"DenyUploads”,
"Effect"."Deny",

"Principal™:"*",
"Action":"s3:PutObject”,
"Resource"”;"arm.aws:s3::demo/*",
"Condition":{

"StringNotEquals™:{
"s3:x-amz-server-side-encryption";"aws:kms"

}
1
}
]

}

B. C:\Users\wk\Desktop\mudassanuUntitled.jpg "ersion™"2012-10-17",

"Id":"PutObj",

"Statement”™.[{

"Sid":"DenyUploads”,

"Effect™:"Deny",

"Principal";"*",

"Action™"s3:PutObject”,
"Resource":"arn.aws:s3:::demo/*",
"Condition™:{

"StringEquals™:{
"s3ix-amz-server-side-encryption”;"aws:kms"

e I

¥

C. C:\Users\wk\Desktop\mudassar\Untitled.jpg "Version™:"2012-10-17",

"Id":"PutObj",
"Statement”[{
"Sid":"DenyUploads”,
"Effect","Deny",
"Principal"™;"*",
"Action":"s3;PutObject”,
"Resource"™:"arn:aws:s3::demo/*"
}

}

]

}

D. C:\Users\wk\Desktop\mudassan\Untitled.jpg "Version™:"2012-10-17",

Answer: A

Explanation:

The condition of "s3:x-amz-server-side-encryption”:"IAM:kms" ensures that objects uploaded need to be encrypted.

"ld""PutObj",

"Statement”™:[{
"Sid";"DenyUploads”,
"Effect":"Deny",

"Principal":"*",
"Action":"s3:PutObjectEncrypted",
"Resource”;"arn:aws:s3::demo/*"
}

}

]

Options B,C and D are invalid because you have to ensure the condition of ns3:x-amz-server-side-encryption":"IAM:kms" is present
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For more information on IAM KMS best practices, just browse to the below URL: https://dl.IAMstatic.com/whitepapers/IAM-kms-best-praaices.pdf
Submit your Feedback/Queries to our Expert

NEW QUESTION 77
A security engineer needs to create an IAM Key Management Service <IAM KMS) key that will De used to encrypt all data stored in a company’s Amazon S3

Buckets in the us-west-1 Region. The key will use
server-side encryption. Usage of the key must be limited to requests coming from Amazon S3 within the company's account.

Which statement in the KMS key policy will meet these requirements?
A)

B)

C)

A. Option A
B. Option B
C. Option C
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Answer: A

NEW QUESTION 82

A security engineer needs to run an AWS CloudFormation script. The CloudFormation script builds AWS infrastructure to support a stack that includes web servers
and a MySQL database. The stack has been deployed in pre-production environments and is ready for production.

The production script must comply with the principle of least privilege. Additionally, separation of duties must exist between the security engineer's IAM account
and CloudFormation.

Which solution will meet these requirements?

A. Use IAM Access Analyzer policy generation to generate a policy that allows the CloudFormation script to run and manage the stac
B. Attach the policy to a new IAM rol

C. Modify the security engineer's IAM permissions to be able to pass the new role to CloudFormation.

D. Create an IAM policy that allows ec2:* and rds:* permission

E. Attach the policy to a new IAM role.Modify the security engineer's IAM permissions to be able to assume the new role.

F. Use IAM Access Analyzer policy generation to generate a policy that allows the CloudFormation script to run and manage the stac
G. Modify the security engineer's IAM permissions to be able to run the CloudFormation script.

H. Create an IAM policy that allows ec2:* and rds:* permission

I. Attach the policy to a new IAM rol

J. Use the IAM policy simulator to confirm that the policy allows the AWS API calls that are necessary to build the stac

K. Modify the security engineer's IAM permissions to be able to pass the new role to CloudFormation.

Answer: A

Explanation:

The correct answer is A. Use IAM Access Analyzer policy generation to generate a policy that allows the CloudFormation script to run and manage the stack.
Attach the policy to a new IAM role. Modify the security engineer’s IAM permissions to be able to pass the new role to CloudFormation.

According to the AWS documentation, IAM Access Analyzer is a service that helps you identify the resources in your organization and accounts, such as Amazon
S3 buckets or IAM roles, that are shared with an external entity. You can also use IAM Access Analyzer to generate fine-grained policies that grant least privilege
access based on access activity and access attempts.

To use |IAM Access Analyzer policy generation, you need to enable IAM Access Analyzer in your account or organization. You can then use the IAM console or the
AWS CLI to generate a policy for a resource based on its access activity or access attempts. You can review and edit the generated policy before applying it to the
resource.

To use IAM Access Analyzer policy generation with CloudFormation, you can follow these steps:

> Run the CloudFormation script in a pre-production environment and monitor its access activity or access attempts using IAM Access Analyzer.

> Use IAM Access Analyzer policy generation to generate a policy that allows the CloudFormation script to run and manage the stack. The policy will include only
the permissions that are necessary for the script to function.

> Attach the policy to a new IAM role that has a trust relationship with CloudFormation. This will allow CloudFormation to assume the role and execute the script.

> Modify the security engineer’s IAM permissions to be able to pass the new role to CloudFormation.
This will allow the security engineer to launch the stack using the role.

> Run the CloudFormation script in the production environment using the new role.

This solution will meet the requirements of least privilege and separation of duties, as it will limit the permissions of both CloudFormation and the security engineer
to only what is needed for running and managing the stack.

Option B is incorrect because creating an 1AM policy that allows ec2:* and rds:* permissions is not following the principle of least privilege, as it will grant more
permissions than necessary for running and managing the stack. Moreover, modifying the security engineer’s IAM permissions to be able to assume the new role
is not ensuring separation of duties, as it will allow the security engineer to bypass CloudFormation and directly access the resources.

Option C is incorrect because modifying the security engineer’'s IAM permissions to be able to run the CloudFormation script is not ensuring separation of duties,
as it will allow the security engineer to execute the script without using CloudFormation.

Option D is incorrect because creating an IAM policy that allows ec2:* and rds:* permissions is not following the principle of least privilege, as it will grant more
permissions than necessary for running and managing the stack. Using the 1AM policy simulator to confirm that the policy allows the AWS API calls that are
necessary to build the stack is not sufficient, as it will not generate a fine-grained policy based on access activity or access attempts.

NEW QUESTION 83

A business stores website images in an Amazon S3 bucket. The firm serves the photos to end users through Amazon CloudFront. The firm learned lately that the
photographs are being accessible from nations in which it does not have a distribution license.

Which steps should the business take to safeguard the photographs and restrict their distribution? (Select two.)

A. Update the S3 bucket policy to restrict access to a CloudFront origin access identity (OAl).

B. Update the website DNS record to use an Amazon Route 53 geolocation record deny list of countries where the company lacks a license.
C. Add a CloudFront geo restriction deny list of countries where the company lacks a license.

D. Update the S3 bucket policy with a deny list of countries where the company lacks a license.

E. Enable the Restrict Viewer Access option in CloudFront to create a deny list of countries where the company lacks a license.

Answer: AC

Explanation:
For Enable Geo-Restriction, choose Yes. For Restriction Type, choose Whitelist to allow access to certain countries, or choose Blacklist to block access from
certain countries. https://IAM.amazon.com/premiumsupport/knowledge-center/cloudfront-geo-restriction/

NEW QUESTION 87

A company's security engineer is designing an isolation procedure for Amazon EC2 instances as part of an incident response plan. The security engineer needs to
isolate a target instance to block any traffic to and from the target instance, except for traffic from the company's forensics team. Each of the company's EC2
instances has its own dedicated security group. The EC2 instances are deployed in subnets of a VPC. A subnet can contain multiple instances.

The security engineer is testing the procedure for EC2 isolation and opens an SSH session to the target instance. The procedure starts to simulate access to the
target instance by an attacker. The security engineer removes the existing security group rules and adds security group rules to give the forensics team access to
the target instance on port 22.

After these changes, the security engineer notices that the SSH connection is still active and usable. When the security engineer runs a ping command to the
public IP address of the target instance, the ping command is blocked.

What should the security engineer do to isolate the target instance?
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A. Add an inbound rule to the security group to allow traffic from 0.0.0.0/0 for all port

B. Add an outbound rule to the security group to allow traffic to 0.0.0.0/0 for all port

C. Then immediately delete these rules.

D. Remove the port 22 security group rul

E. Attach an instance role policy that allows AWS Systems Manager Session Manager connections so that the forensics team can access the target instance.
F. Create a network ACL that is associated with the target instance's subne

G. Add a rule at the top of the inbound rule set to deny all traffic from 0.0.0.0/0. Add a rule at the top of the outbound rule set to deny all traffic to 0.0.0.0/0.

H. Create an AWS Systems Manager document that adds a host-level firewall rule to block all inbound traffic and outbound traffi

I. Run the document on the target instance.

Answer: C

NEW QUESTION 92

A Security Engineer has been tasked with enabling IAM Security Hub to monitor Amazon EC2 instances fix CVE in a single IAM account The Engineer has already
enabled IAM Security Hub and Amazon Inspector m the IAM Management Console and has installed me Amazon Inspector agent on an EC2 instances that need
to be monitored.

Which additional steps should the Security Engineer lake 10 meet this requirement?

A. Configure the Amazon inspector agent to use the CVE rule package

B. Configure the Amazon Inspector agent to use the CVE rule package Configure Security Hub to ingest from IAM inspector by writing a custom resource policy
C. Configure the Security Hub agent to use the CVE rule package Configure IAM Inspector lo ingest from Security Hub by writing a custom resource policy

D. Configure the Amazon Inspector agent to use the CVE rule package Install an additional Integration library Allow the Amazon Inspector agent to communicate
with Security Hub

Answer: D

Explanation:

you need to configure the Amazon Inspector agent to use the CVE rule package, which is a set of rules that check for vulnerabilities and exposures on your EC2
instances5. You also need to install an additional integration library that enables communication between the Amazon Inspector agent and Security

Hub6. Security Hub is a service that provides you with a comprehensive view of your security state in AWS and helps you check your environment against security
industry standards and best practices7. The other options are either incorrect or incomplete for meeting the requirement.

NEW QUESTION 96

A company wants to configure DNS Security Extensions (DNSSEC) for the company's primary domain. The company registers the domain with Amazon Route 53.
The company hosts the domain on Amazon EC2 instances by using BIND.

What is the MOST operationally efficient solution that meets this requirement?

A. Set the dnssec-enable option to yes in the BIND configuratio

B. Create a zone-signing key (ZSK) and a key-signing key (KSK) Restart the BIND service.

C. Migrate the zone to Route 53 with DNSSEC signing enable

D. Create a zone-signing key (ZSK) and a key-signing key (KSK) that are based on an AW

E. Key Management Service (AWS KMS) customer managed key.

F. Set the dnssec-enable option to yes in the BIND configuratio

G. Create a zone-signing key (ZSK) and a key-signing key (KSK). Run the dnssec-signzone command to generate a delegation signer (DS) record Use AW
H. Key Management Service (AWS KMS) to secure the keys.

I. Migrate the zone to Route 53 with DNSSEC signing enable

J. Create a key-signing key (KSK) that is based on an AWS Key Management Service (AWS KMS) customer managed ke
K. Add a delegation signer (DS) record to the parent zone.

Answer: D

Explanation:

To configure DNSSEC for a domain registered with Route 53, the most operationally efficient solution is to migrate the zone to Route 53 with DNSSEC signing
enabled, create a key-signing key (KSK) that is based on an AWS Key Management Service (AWS KMS) customer managed key, and add a delegation signer
(DS) record to the parent zone. This way, Route 53 handles the zone-signing key (ZSK) and the signing of the records in the hosted zone, and the customer only
needs to manage the KSK in AWS KMS and provide the DS record to the domain registrar. Option A is incorrect because it does not involve migrating the zone to
Route 53, which would simplify the DNSSEC configuration. Option B is incorrect because it creates both a ZSK and a KSK based on AWS KMS customer
managed keys, which is unnecessary and less efficient than letting Route 53 manage the ZSK. Option C is incorrect because it does not involve migrating the zone
to Route 53, and it requires running the dnssec-signzone command manually, which is less efficient than letting Route 53 sign the zone automatically. Verified
References:

> https://docs.aws.amazon.com/Route53/latest/DeveloperGuide/domain-configure-dnssec.html
> https://aws.amazon.com/about-aws/whats-new/2020/12/announcing-amazon-route-53-support-dnssec/

NEW QUESTION 99

A company needs to use HTTPS when connecting to its web applications to meet compliance requirements. These web applications run in Amazon VPC on
Amazon EC2 instances behind an Application Load Balancer (ALB). A security engineer wants to ensure that the load balancer win only accept connections over
port 443. even if the ALB is mistakenly configured with an HTTP listener

Which configuration steps should the security engineer take to accomplish this task?

A. Create a security group with a rule that denies Inbound connections from 0.0.0 0/0 on port 00. Attach this security group to the ALB to overwrite more
permissive rules from the ALB's default securitygroup.

B. Create a network ACL that denies inbound connections from 0 0.0.0/0 on port 80 Associate the network ACL with the VPC s internet gateway

C. Create a network ACL that allows outbound connections to the VPC IP range on port 443 only.Associate the network ACL with the VPC's internet gateway.

D. Create a security group with a single inbound rule that allows connections from 0.0.0 0/0 on port 443.Ensure this security group is the only one associated with
the ALB

Answer: D

Explanation:
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To ensure that the load balancer only accepts connections over port 443, the security engineer should do the following:

> Create a security group with a single inbound rule that allows connections from 0.0.0.0/0 on port 443.
This means that the security group allows HTTPS traffic from any source IP address.

> Ensure this security group is the only one associated with the ALB. This means that the security group overrides any other rules that might allow HTTP traffic
on port 80.

NEW QUESTION 102

A Development team has built an experimental environment to test a simple stale web application It has built an isolated VPC with a private and a public subnet.
The public subnet holds only an Application Load Balancer a NAT gateway, and an internet gateway. The private subnet holds ail of the Amazon EC2 instances
There are 3 different types of servers Each server type has its own Security Group that limits access lo only required connectivity. The Security Groups nave both
inbound and outbound rules applied Each subnet has both inbound and outbound network AClIs applied to limit access to only required connectivity

Which of the following should the team check if a server cannot establish an outbound connection to the

internet? (Select THREE.)

A. The route tables and the outbound rules on the appropriate private subnet security group

B. The outbound network ACL rules on the private subnet and the Inbound network ACL rules on the public subnet

C. The outbound network ACL rules on the private subnet and both the inbound and outbound rules on the public subnet
D. The rules on any host-based firewall that may be applied on the Amazon EC2 instances

E. The Security Group applied to the Application Load Balancer and NAT gateway

F. That the 0.0.0./0 route in the private subnet route table points to the internet gateway in the public subnet

Answer: CEF

Explanation:

because these are the factors that could affect the outbound connection to the internet from a server in a private subnet. The outbound network ACL rules on the
private subnet and both the inbound and outbound rules on the public subnet must allow the traffic to pass through8. The security group applied to the application
load balancer and NAT gateway must also allow the traffic from the private subnet9. The 0.0.0.0/0 route in the private subnet route table must point to the NAT
gateway in the public subnet, not the internet gateway10. The other options are either irrelevant or incorrect for troubleshooting the outbound connection issue.

NEW QUESTION 106
Developers in an organization have moved from a standard application deployment to containers. The Security Engineer is tasked with ensuring that the
containers are secure. Which strategies will reduce the attack surface and enhance the security of the containers? (Select TWO.)

A. Use the containers to automate security deployments.

B. Limit resource consumption (CPU, memory), networking connections, ports, and unnecessary container libraries.
C. Segregate containers by host, function, and data classification.

D. Use Docker Notary framework to sign task definitions.

E. Enable container breakout at the host kernel.

Answer: AC

Explanation:

these are the strategies that can reduce the attack surface and enhance the security of the containers. Containers are a method of packaging and running
applications in isolated environments. Using containers to automate security deployments can help ensure that security patches and updates are applied
consistently and quickly across the container fleet. Segregating containers by host, function, and data classification can help limit the impact of a compromise and
enforce the principle of least privilege. The other options are either irrelevant or risky for securing containers.

NEW QUESTION 109

Your development team is using access keys to develop an application that has access to S3 and DynamoDB. A new security policy has outlined that the
credentials should not be older than 2 months, and should be rotated. How can you achieve this?

Please select:

. Use the application to rotate the keys in every 2 months via the SDK

. Use a script to query the creation date of the key

. If older than 2 months, create new access key and update all applications to use it inactivate the old key and delete it.
. Delete the user associated with the keys after every 2 month

. Then recreate the user again.

. Delete the IAM Role associated with the keys after every 2 month

. Then recreate the IAM Role again.

OGTMTMmMmoOOm>

Answer: B

Explanation:

One can use the CLI command list-access-keys to get the access keys. This command also returns the "CreateDate" of the keys. If the CreateDate is older than 2
months, then the keys can be deleted.

The Returns list-access-keys CLI command returns information about the access key IDs associated with the specified IAM user. If there are none, the action
returns an empty list

Option A is incorrect because you might as use a script for such maintenance activities Option C is incorrect because you would not rotate the users themselves
Option D is incorrect because you don't use 1AM roles for such a purpose For more information on the CLI command, please refer to the below Link:
http://docs.IAM.amazon.com/cli/latest/reference/iam/list-access-keys.htmll

The correct answer is: Use a script to query the creation date of the keys. If older than 2 months, create new access key and update all applications to use it
inactivate the old key and delete it.

Submit your Feedback/Queries to our Experts

NEW QUESTION 111

A company wants to receive an email notification about critical findings in AWS Security Hub. The company does not have an existing architecture that supports
this functionality.

Which solution will meet the requirement?
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A. Create an AWS Lambda function to identify critical Security Hub finding

B. Create an Amazon Simple Notification Service (Amazon SNS) topic as the target of the Lambda functio
C. Subscribe an email endpoint to the SNS topic to receive published messages.

D. Create an Amazon Kinesis Data Firehose delivery strea

E. Integrate the delivery stream with Amazon EventBridg

F. Create an EventBridge rule that has a filter to detect critical Security Hub finding

G. Configure the delivery stream to send the findings to an email address.

H. Create an Amazon EventBridge rule to detect critical Security Hub finding

I. Create an Amazon Simple Notification Service (Amazon SNS) topic as the target of the EventBridge rul
J. Subscribe an email endpoint to the SNS topic to receive published messages.

K. Create an Amazon EventBridge rule to detect critical Security Hub finding

L. Create an Amazon Simple Email Service (Amazon SES) topic as the target of the EventBridge rul

M. Use the Amazon SES API to format the messag

N. Choose an email address to be the recipient of the message.

Answer: C

Explanation:

This solution meets the requirement of receiving an email notification about critical findings in AWS Security Hub. Amazon EventBridge is a serverless event bus
that can receive events from AWS services and third-party sources, and route them to targets based on rules and filters. Amazon SNS is a fully managed pub/sub
service that can send messages to various endpoints, such as email, SMS, mobile push, and HTTP. By creating an EventBridge rule that detects critical Security
Hub findings and sends them to an SNS topic, the company can leverage the existing integration between these services and avoid writing custom code or
managing servers. By subscribing an email endpoint to the SNS topic, the company can receive published messages in their inbox.

NEW QUESTION 114

Example.com is hosted on Amazon EC2 instances behind an Application Load Balancer (ALB). Third-party host intrusion detection system (HIDS) agents that
capture the traffic of the EC2 instance are running on each host. The company must ensure they are using privacy enhancing technologies for users, without losing
the assurance the third-party solution offers.

What is the MOST secure way to meet these requirements?

A. Enable TLS pass through on the ALB, and handle decryption at the server using Elliptic Curve Diffie-Hellman (ECDHE) cipher suites.

B. Create a listener on the ALB that uses encrypted connections with Elliptic Curve Diffie-Hellman (ECDHE) cipher suites, and pass the traffic in the clear to the
server.

C. Create a listener on the ALB that uses encrypted connections with Elliptic Curve Diffie-Hellman (ECDHE) cipher suites, and use encrypted connections to the
servers that do not enable Perfect Forward Secrecy (PFS).

D. Create a listener on the ALB that does not enable Perfect Forward Secrecy (PFS) cipher suites, and use encrypted connections to the servers using Elliptic
Curve Diffie-Hellman (ECDHE) cipher suites.

Answer: D

Explanation:

the most secure way to meet the requirements. TLS is a protocol that provides encryption and authentication for data in transit. ALB is a service that distributes
incoming traffic across multiple EC2 instances. HIDS is a system that monitors and detects malicious activity on a host. ECDHE is a type of cipher suite that
supports perfect forward secrecy, which is a property that ensures that past and current TLS traffic stays secure even if the certificate private key is leaked. By
creating a listener on the ALB that does not enable PFS cipher suites, and using encrypted connections to the servers using ECDHE cipher suites, you can ensure
that the HIDS agents can capture the traffic of the EC2 instance without compromising the privacy of the users. The other options are either less secure or less
compatible with the third-party solution.

NEW QUESTION 116

A systems engineer deployed containers from several custom-built images that an application team provided through a QA workflow The systems engineer used
Amazon Elastic Container Service (Amazon ECS) with the Fargate launch type as the target platform The system engineer now needs to collect logs from all
containers into an existing Amazon CloudWatch log group

Which solution will meet this requirement?

A. Turn on the awslogs log driver by specifying parameters for awslogs-group and awslogs-region m the LogConfiguration property
B. Download and configure the CloudWatch agent on the container instances

C. Set up Fluent Bit and FluentO as a DaemonSet to send logs to Amazon CloudWatch Logs

D. Configure an 1AM policy that includes the togs CreateLogGroup action Assign the policy to the container instances

Answer: A

Explanation:

The AWS documentation states that you can use the awslogs log driver to send log information to CloudWatch Logs. To use this method, you specify the
parameters for awslogs-group and awslogs-region in the LogConfiguration property of the container definition. This method is the easiest way to send logs to
CloudWatch Logs.

References: : Amazon Elastic Container Service Developer Guide

NEW QUESTION 117

A company needs complete encryption of the traffic between external users and an application. The company hosts the application on a fleet of Amazon EC2
instances that run in an Auto Scaling group behind an Application Load Balancer (ALB).

How can a security engineer meet these requirements?

. Create a new Amazon-issued certificate in AWS Secrets Manage

. Export the certificate from Secrets Manage

. Import the certificate into the ALB and the EC2 instances.

. Create a new Amazon-issued certificate in AWS Certificate Manager (ACM). Associate the certificate with the AL

. Export the certificate from AC

. Install the certificate on the EC2 instances.

. Import a new third-party certificate into AWS ldentity and Access Management (IAM). Export thecertificate from IA
. Associate the certificate with the ALB and the EC2 instances.

IOMNMMmMmOoOO >
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I. Import a new third-party certificate into AWS Certificate Manager (ACM). Associate the certificate with the AL
J. Install the certificate on the EC2 instances.

Answer: D

Explanation:

The correct answer is D. Import a new third-party certificate into AWS Certificate Manager (ACM). Associate the certificate with the ALB. Install the certificate on
the EC2 instances.

This answer is correct because it meets the requirements of complete encryption of the traffic between external users and the application. By importing a third-
party certificate into ACM, the security engineer can use it to secure the communication between the ALB and the clients. By installing the same certificate on the
EC2 instances, the security engineer can also secure the communication between the ALB and the instances. This way, both the front-end and back-end
connections are encrypted with SSL/TLS1.

The other options are incorrect because:

> A. Creating a new Amazon-issued certificate in AWS Secrets Manager is not a solution, because AWS Secrets Manager is not a service for issuing certificates,
but for storing and managing secrets such as database credentials and API keys2. AWS Secrets Manager does not integrate with ALB or EC2 for certificate
deployment.

> B. Creating a new Amazon-issued certificate in AWS Certificate Manager (ACM) and exporting it from ACM is not a solution, because ACM does not allow
exporting Amazon-issued certificates3. ACM only allows exporting private certificates that are issued by an AWS Private Certificate Authority (CA)4.

> C. Importing a new third-party certificate into AWS Identity and Access Management (IAM) is not a solution, because 1AM is not a service for managing
certificates, but for controlling access to AWS resources5. IAM does not integrate with ALB or EC2 for certificate deployment.

References:

1: How SSL/TLS works 2: What is AWS Secrets Manager? 3: Exporting an ACM Certificate 4: Exporting Private Certificates from ACM 5: What is IAM?

NEW QUESTION 122

A company is evaluating its security posture. In the past, the company has observed issues with specific hosts and host header combinations that affected

the company's business. The company has configured AWS WAF web ACLs as an initial step to mitigate these issues.

The company must create a log analysis solution for the AWS WAF web ACLs to monitor problematic activity. The company wants to process all the AWS WAF
logs in a central location. The company must have the ability to filter out requests based on specific hosts.

A security engineer starts to enable access logging for the AWS WAF web ACLs.

What should the security engineer do next to meet these requirements with the MOST operational efficiency?

A. Specify Amazon Redshift as the destination for the access log

B. Deploy the Amazon Athena Redshift connecto

C. Use Athena to query the data from Amazon Redshift and to filter the logs by host.
D. Specify Amazon CloudWatch as the destination for the access log

E. Use Amazon CloudWatch Logs Insights to design a query to filter the logs by host.
F. Specify Amazon CloudWatch as the destination for the access log

G. Export the CloudWatch logs to an Amazon S3 bucke

H. Use Amazon Athena to query the logs and to filter the logs by host.

I. Specify Amazon CloudWatch as the destination for the access log

J. Use Amazon Redshift Spectrum to query the logs and to filter the logs by host.

Answer: C

Explanation:

The correct answer is C. Specify Amazon CloudWatch as the destination for the access logs. Export the CloudWatch logs to an Amazon S3 bucket. Use Amazon
Athena to query the logs and to filter the logs by host.

According to the AWS documentationl, AWS WAF offers logging for the traffic that your web ACLs analyze. The logs include information such as the time that
AWS WAF received the request from your protected AWS resource, detailed information about the request, and the action setting for the rule that the request
matched. You can send your logs to an Amazon CloudWatch Logs log group, an Amazon Simple Storage Service (Amazon S3) bucket, or an Amazon Kinesis
Data Firehose.

To create a log analysis solution for the AWS WAF web ACLs, you can use Amazon Athena, which is an interactive query service that makes it easy to analyze
data in Amazon S3 using standard SQL2. You can use Athena to query and filter the AWS WAF logs by host or any other criteria. Athena is serverless, so there is
no infrastructure to manage, and you pay only for the queries that you run.

To use Athena with AWS WAF logs, you need to export the CloudWatch logs to an S3 bucket. You can do this by creating a subscription filter that sends your log
events to a Kinesis Data Firehose delivery stream, which then delivers the data to an S3 bucket3. Alternatively, you can use AWS DMS to migrate your
CloudWatch logs to S34.

After you have exported your CloudWatch logs to S3, you can create a table in Athena that points to your S3 bucket and use the AWS service log format that
matches your log schema5. For example, if you are using JSON format for your AWS WAF logs, you can use the AWSJSONSerDe serde. Then you can run SQL
gueries on your Athena table and filter the results by host or any other field in your log data.

Therefore, this solution meets the requirements of creating a log analysis solution for the AWS WAF web ACLs with the most operational efficiency. This solution
does not require setting up any additional infrastructure or services, and it leverages the existing capabilities of CloudWatch, S3, and Athena.

The other options are incorrect because:

> A. Specifying Amazon Redshift as the destination for the access logs is not possible, because AWS WAF does not support sending logs directly to Redshift.
You would need to use an intermediate service such as Kinesis Data Firehose or AWS DMS to load the data from CloudWatch or S3 to Redshift. Deploying the
Amazon Athena Redshift connector is not necessary, because you can query Redshift data directly from Athena without using a connector6. This solution would
also incur additional costs and operational overhead of managing a Redshift cluster.

> B. Specifying Amazon CloudWatch as the destination for the access logs is possible, but using Amazon CloudWatch Logs Insights to design a query to filter
the logs by host is not efficient or scalable. CloudWatch Logs Insights is a feature that enables you to interactively search and analyze your log data in CloudWatch
Logs7. However, CloudWatch Logs Insights has some limitations, such as a maximum query duration of 20 minutes, a maximum of 20 log groups per query, and a
maximum retention period of 24 months8. These limitations may affect your ability to perform complex and long-running analysis on your AWS WAF logs.

> D. Specifying Amazon CloudWatch as the destination for the access logs is possible, but using Amazon Redshift Spectrum to query the logs and filter them by
host is not efficient or cost-effective. Redshift Spectrum is a feature of Amazon Redshift that enables you to run queries against exabytes of data in S3

without loading or transforming any data9. However, Redshift Spectrum requires a Redshift cluster to process the queries, which adds additional costs and
operational overhead. Redshift Spectrum also charges you based on the number of bytes scanned by each query, which can be expensive if you have large
volumes of log datal0.

References:

1: Logging AWS WAF web ACL traffic - Amazon Web Services 2: What Is Amazon Athena? - Amazon Athena 3: Streaming CloudWatch Logs Data to Amazon S3
- Amazon CloudWatch Logs 4: Migrate data from CloudWatch Logs using AWS Database Migration Service - AWS Database Migration Service 5: Querying AWS
service logs - Amazon Athena 6: Querying data from Amazon Redshift - Amazon Athena 7: Analyzing log data with CloudWatch Logs Insights - Amazon
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CloudWatch Logs 8: CloudWatch Logs Insights quotas - Amazon CloudWatch 9: Querying external data using Amazon Redshift Spectrum - Amazon Redshift 10:
Amazon Redshift Spectrum pricing - Amazon Redshift

NEW QUESTION 127

A company has an application that uses an Amazon RDS PostgreSQL database. The company is developing an application feature that will store sensitive
information for an individual in the database.

During a security review of the environment, the company discovers that the RDS DB instance is not encrypting data at rest. The company needs a solution that
will provide encryption at rest for all the existing data and for any new data that is entered for an individual.

Which combination of options can the company use to meet these requirements? (Select TWO.)

. Create a snapshot of the DB instanc

. Copy the snapshot to a new snapshot, and enable encryption for the copy proces
. Use the new snapshot to restore the DB instance.

. Modify the configuration of the DB instance by enabling encryptio

. Create a snapshot of the DB instanc

. Use the snapshot to restore the DB instance.

. Use IAM Key Management Service (IAM KMS) to create a new default IAM managed awa/rds key.Select this key as the encryption key for operations with
Amazon RDS.

H. Use IAM Key Management Service (IAM KMS] to create a new CM

I. Select this key as the encryption key for operations with Amazon RDS.

J. Create a snapshot of the DB instanc

K. Enable encryption on the snapshoVUse the snapshot to restore the DB instance.

GTMMmMmoOwm>

Answer: CE

NEW QUESTION 132

A company has deployed servers on Amazon EC2 instances in a VPC. External vendors access these servers over the internet. Recently, the company deployed
a new application on EC2 instances in a new CIDR range. The company needs to make the application available to the vendors.

A security engineer verified that the associated security groups and network ACLs are allowing the required ports in the inbound diction. However, the vendors
cannot connect to the application.

Which solution will provide the vendors access to the application?

A. Modify the security group that is associated with the EC2 instances to have the same outbound rules asinbound rules.
B. Modify the network ACL that is associated with the CIDR range to allow outbound traffic to ephemeral ports.

C. Modify the inbound rules on the internet gateway to allow the required ports.

D. Modify the network ACL that is associated with the CIDR range to have the same outbound rules as inbound rules.

Answer: B

Explanation:

The correct answer is B. Modify the network ACL that is associated with the CIDR range to allow outbound traffic to ephemeral ports.

This answer is correct because network ACLs are stateless, which means that they do not automatically allow return traffic for inbound connections. Therefore, the
network ACL that is associated with the CIDR range of the new application must have outbound rules that allow traffic to ephemeral ports, which are the temporary
ports used by the vendors’ machines to communicate with the application servers. Ephemeral ports are typically in the range of 1024-655351. If the network ACL
does not have such rules, the vendors will not be able to connect to the application.

The other options are incorrect because:

> A. Modifying the security group that is associated with the EC2 instances to have the same outbound rules as inbound rules is not a solution, because security
groups are stateful, which means that they automatically allow return traffic for inbound connections. Therefore, there is no need to add outbound rules to the
security group for the vendors to access the application2.

> C. Modifying the inbound rules on the internet gateway to allow the required ports is not a solution, because internet gateways do not have inbound or
outbound rules. Internet gateways are VPC components that enable communication between instances in a VPC and the internet. They do not filter traffic based
on ports or protocols3.

> D. Modifying the network ACL that is associated with the CIDR range to have the same outbound rules as inbound rules is not a solution, because it does not
address the issue of ephemeral ports. The outbound rules of the network ACL must match the ephemeral port range of the vendors’ machines, not necessarily the
inbound rules of the network ACLA4.

References:

1: Ephemeral port - Wikipedia 2: Security groups for your VPC - Amazon Virtual Private Cloud 3: Internet gateways - Amazon Virtual Private Cloud 4: Network
ACLs - Amazon Virtual Private Cloud

NEW QUESTION 136

While securing the connection between a company's VPC and its on-premises data center, a Security Engineer sent a ping command from an on-premises host
(IP address 203.0.113.12) to an Amazon EC2 instance (IP address 172.31.16.139).

The ping command did not return a response. The flow log in the VPC showed the following:

2 123456789010 eni-1235b8ca 203.0.113.12 172.31.16.139 0 0 1 4 336 1432917027 1432917142 ACCEPT OK

2 123456789010 eni-1235b8ca 172.31.16.139 203.0.113.12 0 0 1 4 336 1432917094 1432917142 REJECT OK

What action should be performed to allow the ping to work?

A. In the security group of the EC2 instance, allow inbound ICMP traffic.
B. In the security group of the EC2 instance, allow outbound ICMP traffic.
C. In the VPC's NACL, allow inbound ICMP traffic.

D. In the VPC's NACL, allow outbound ICMP traffic.

Answer: D

NEW QUESTION 140

A company has two AWS accounts. One account is for development workloads. The other account is for production workloads. For compliance reasons the
production account contains all the AWS Key Management. Service (AWS KMS) keys that the company uses for encryption.

The company applies an IAM role to an AWS Lambda function in the development account to allow secure access to AWS resources. The Lambda function must
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access a specific KMS customer managed key that exists in the production account to encrypt the Lambda function's data.
Which combination of steps should a security engineer take to meet these requirements? (Select TWO.)

A. Configure the key policy for the customer managed key in the production account to allow access to the Lambda service.

B. Configure the key policy for the customer managed key in the production account to allow access to the 1AM role of the Lambda function in the development
account.

C. Configure a new IAM policy in the production account with permissions to use the customer managed ke

D. Apply the 1AM policy to the IAM role that the Lambda function in the development account uses.

E. Configure a new key policy in the development account with permissions to use the customer managed ke

F. Apply the key policy to the IAM role that the Lambda function in the development account uses.

G. Configure the IAM role for the Lambda function in the development account by attaching an IAM policy that allows access to the customer managed key in the
production account.

Answer: BE

Explanation:
To allow a Lambda function in one AWS account to access a KMS customer managed key in another AWS account, the following steps are required:

> Configure the key policy for the customer managed key in the production account to allow access to the IAM role of the Lambda function in the development
account. A key policy is a resource-based policy that defines who can use or manage a KMS key. To grant cross-account access to a KMS key, you must specify
the AWS account ID and the IAM role ARN of the external principal in the key policy statement. For more information, see Allowing users in other accounts to use
a KMS key.

> Configure the IAM role for the Lambda function in the development account by attaching an IAM policy that allows access to the customer managed key in the
production account. An IAM policy is an identity-based policy that defines what actions an IAM entity can perform on which resources. To allow an IAM role to use
a KMS key in another account, you must specify the KMS key ARN and the kms:Encrypt action (or any other action that requires access to the KMS key) in the
IAM policy statement. For more information, see Using IAM policies with AWS KMS.

This solution will meet the requirements of allowing secure access to a KMS customer managed key across AWS accounts.

The other options are incorrect because they either do not grant cross-account access to the KMS key (A, C), or do not use a valid policy type for KMS keys (D).
Verified References:

> https://docs.aws.amazon.com/kms/latest/developerguide/iam-policies.html

NEW QUESTION 142

A company's Security Engineer is copying all application logs to centralized Amazon S3 buckets. Currently, each of the company's applications is in its own IAM
account, and logs are pushed into S3 buckets associated with each account. The Engineer will deploy an IAM Lambda function into each account that copies the
relevant log files to the centralized S3 bucket.

The Security Engineer is unable to access the log files in the centralized S3 bucket. The Engineer's IAM user policy from the centralized account looks like this:

The centralized S3 bucket policy looks like this:

Why is the Security Engineer unable to access the log files?
A. The S3 bucket policy does not explicitly allow the Security Engineer access to the objects in the bucket.

B. The object ACLs are not being updated to allow the users within the centralized account to access the objects
C. The Security Engineers IAM policy does not grant permissions to read objects in the S3 bucket
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D. The s3:PutObject and s3:PutObjectAcl permissions should be applied at the S3 bucket level

Answer: C

NEW QUESTION 145

A security engineer receives an IAM abuse email message. According to the message, an Amazon EC2 instance that is running in the security engineer's IAM
account is sending phishing email messages.

The EC2 instance is part of an application that is deployed in production. The application runs on many EC2 instances behind an Application Load Balancer. The
instances run in an Amazon EC2 Auto Scaling group across multiple subnets and multiple Availability Zones.

The instances normally communicate only over the HTTP. HTTPS, and MySQL protocols. Upon investigation, the security engineer discovers that email messages
are being sent over port 587. All other traffic is normal.

The security engineer must create a solution that contains the compromised EC2 instance, preserves forensic evidence for analysis, and minimizes application
downtime. Which combination of steps must the security engineer take to meet these requirements? (Select THREE.)

A. Add an outbound rule to the security group that is attached to the compromised EC2 instance to deny traffic to 0.0.0.0/0 and port 587.

B. Add an outbound rule to the network ACL for the subnet that contains the compromised EC2 instance to deny traffic to 0.0.0.0/0 and port 587.
C. Gather volatile memory from the compromised EC2 instanc

D. Suspend the compromised EC2 instance from the Auto Scaling grou

E. Then take a snapshot of the compromised EC2 instanc

F.v

G. Take a snapshot of the compromised EC2 instanc

H. Suspend the compromised EC2 instance from the Auto Scaling grou

I. Then gather volatile memory from the compromised EC2 instance.

J. Move the compromised EC2 instance to an isolated subnet that has a network ACL that has no inbound rules or outbound rules.

K. Replace the existing security group that is attached to the compromised EC2 instance with a new security group that has no inbound rules or outbound rules.

Answer: ACE

NEW QUESTION 149

A company has an organization in AWS Organizations that includes dedicated accounts for each of its business units. The company is collecting all AWS
CloudTrail logs from the accounts in a single Amazon S3 bucket in the top-level account. The company's IT governance team has access to the top-level account.
A security engineer needs to allow each business unit to access its own CloudTrail logs.

The security engineer creates an IAM role in the top-level account for each of the other accounts. For each role the security engineer creates an IAM policy to
allow read-only permissions to objects in the S3 bucket with the prefix of the respective logs.

Which action must the security engineer take in each business unit account to allow an IAM user in that account to read the logs?

A. Attach a policy to the IAM user to allow the user to assume the role that was created in the top-level accoun
B. Specify the role's ARN in the policy.

C. Create an SCP that grants permissions to the top-level account.

D. Use the root account of the business unit account to assume the role that was created in the top-level accoun
E. Specify the role's ARN in the policy.

F. Forward the credentials of the IAM role in the top-level account to the IAM user in the business unit account.

Answer: A

Explanation:
To allow an IAM user in one AWS account to access resources in another AWS account using IAM roles, the following steps are required:

> Create a role in the AWS account that contains the resources (the trusting account) and specify the AWS account that contains the IAM user (the trusted
account) as a trusted entity in the role’s trust policy. This allows users from the trusted account to assume the role and access resources in the trusting account.

> Attach a policy to the IAM user in the trusted account that allows the user to assume the role in the trusting account. The policy must specify the ARN of the
role that was created in the trusting account.

> The IAM user can then switch roles or use temporary credentials to access the resources in the trusting account.
Verified References:

> https://repost.aws/knowledge-center/cross-account-access-iam
> https://docs.aws.amazon.com/IAM/latest/UserGuide/tutorial_cross-account-with-roles.html

NEW QUESTION 153

A company has an AWS Lambda function that creates image thumbnails from larger images. The Lambda function needs read and write access to an Amazon S3
bucket in the same AWS account.

Which solutions will provide the Lambda function this access? (Select TWO.)

A. Create an IAM user that has only programmatic acces

B. Create a new access key pai

C. Add environmental variables to the Lambda function with the ac-cess key ID and secret access ke

D. Modify the Lambda function to use the environmental variables at run time during communication with Amazon S3.
E. Generate an Amazon EC2 key pai

F. Store the private key in AWS Secrets Man-age

G. Modify the Lambda function to retrieve the private key from Secrets Manager and to use the private key during communication with Amazon S3.
H. Create an IAM role for the Lambda functio

I. Attach an IAM policy that al-lows access to the S3 bucket.

J. Create an IAM role for the Lambda functio

K. Attach a bucket policy to the S3 bucket to allow access.Specify the function's IAM role as the princi-pal.

L. Create a security grou

M. Attach the security group to the Lambda functio

N. Attach a bucket policy that allows access to the S3 bucket through the se-curity group ID.

Answer: CD
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NEW QUESTION 154

A company has a batch-processing system that uses Amazon S3, Amazon EC2, and AWS Key Management Service (AWS KMS). The system uses two AWS
accounts: Account A and Account B.

Account A hosts an S3 bucket that stores the objects that will be processed. The S3 bucket also stores the results of the processing. All the S3 bucket objects are
encrypted by a KMS key that is managed in

Account A.

Account B hosts a VPC that has a fleet of EC2 instances that access the S3 buck-et in Account A by using statements in the bucket policy. The VPC was created
with DNS hostnames enabled and DNS resolution enabled.

A security engineer needs to update the design of the system without changing any of the system's code. No AWS API calls from the batch-processing EC2 in-
stances can travel over the internet.

Which combination of steps will meet these requirements? (Select TWO.)

A. In the Account B VPC, create a gateway VPC endpoint for Amazon S3. For the gateway VPC endpoint,create a resource policy that allows the s3:GetObject,
s3:ListBucket, s3:PutObject, and s3:PutObjectAcl actions for the S3 bucket.

B. In the Account B VPC, create an interface VPC endpoint for Amazon S3. For the interface VPC endpoint, create a resource policy that allows the s3:GetObject,
s3:ListBucket, s3:PutObject, and s3:PutObjectAcl actions for the S3 bucket.

C. In the Account B VPC, create an interface VPC endpoint for AWS KM

D. For the interface VPC endpoint, create a resource policy that allows the kms:Encrypt, kms:Decrypt, and kms:GenerateDataKey actions for the KMS ke

E. Ensure that private DNS is turned on for the endpoint.

F. In the Account B VPC, create an interface VPC endpoint for AWS KM

G. For the interface VPC endpoint, create a resource policy that allows the kms:Encrypt, kms:Decrypt, and kms:GenerateDataKey actions for the KMS ke

H. Ensure that private DNS is turned off for the endpoint.

I. In the Account B VPC, verify that the S3 bucket policy allows the s3:PutObjectAcl action for cross-account us

J. In the Account B VPC, create a gateway VPC endpoint for Amazon S3. For the gateway VPC endpoint, create a resource policy that allows the s3:GetObject,
s3:ListBucket, and s3:PutObject actions for the S3 bucket.

Answer: BC

NEW QUESTION 159

A company is expanding its group of stores. On the day that each new store opens, the company wants to launch a customized web application for that store.
Each store's application will have a non-production environment and a production environment. Each environment will be deployed in a separate AWS account.
The company uses AWS Organizations and has an OU that is used only for these accounts.

The company distributes most of the development work to third-party development teams. A security engineer needs to ensure that each team follows the
company's

deployment plan for AWS resources. The security engineer also must limit access to the deployment plan to only the developers who need access. The security
engineer already has created an AWS CloudFormation template that implements the deployment plan.

What should the security engineer do next to meet the requirements in the MOST secure way?

. Create an AWS Service Catalog portfolio in the organization's management accoun
. Upload the CloudFormation templat

. Add the template to the portfolio's product lis

. Share the portfolio with the OIJ.

Use the CloudFormation CLI to create a module from the CloudFormation templat

. Register the module as a private extension in the CloudFormation registr

. Publish the extensio

. In the OU, create an SCP that allows access to the extension.

I. Create an AWS Service Catalog portfolio in the organization's management accoun
J. Upload the CloudFormation templat

K. Add the template to the portfolio's product lis

L. Create an IAM role that has a trust policy that allows cross-account access to the portfolio for users in the OU account
M. Attach the AWSServiceCatalogEndUserFullAccess managed policy to the role.

N. Use the CloudFormation CLI to create a module from the CloudFormation templat
O. Register the module as a private extension in the CloudFormation registr

P. Publish the extensio

Q. Share the extension with the OU

IOTMMUOW>

Answer: A

Explanation:

The correct answer is A. Create an AWS Service Catalog portfolio in the organization’s management account. Upload the CloudFormation template. Add the
template to the portfolio’s product list. Share the portfolio with the OU.

According to the AWS documentation, AWS Service Catalog is a service that allows you to create and manage catalogs of IT services that are approved for use on
AWS. You can use Service Catalog to centrally manage commonly deployed IT services and help achieve consistent governance and compliance requirements,
while enabling users to quickly deploy only the approved IT services they need.

To use Service Catalog with multiple AWS accounts, you need to enable AWS Organizations with all features enabled. This allows you to centrally manage your
accounts and apply policies across your organization. You can also use Service Catalog as a service principal for AWS Organizations, which lets you share your
portfolios with organizational units (OUs) or accounts in your organization.

To create a Service Catalog portfolio, you need to use an administrator account, such as the organization’s management account. You can upload your
CloudFormation template as a product in your portfolio, and define constraints and tags for it. You can then share your portfolio with the OU that contains the
accounts for the web applications. This will allow the developers in those accounts to launch products from the shared portfolio using the Service Catalog end user
console.

Option B is incorrect because CloudFormation modules are reusable components that encapsulate one or more resources and their configurations. They are not
meant to be used as templates for deploying entire stacks of resources. Moreover, sharing a module with an OU does not grant access to launch stacks from it.
Option C is incorrect because creating an IAM role that has a trust policy that allows cross-account access to the portfolio is not secure. It would allow any user in
the OU accounts to assume the role and access the portfolio, regardless of their job function or access requirements.

Option D is incorrect because sharing a module with an OU does not grant access to launch stacks from it. It also does not limit access to the deployment plan to
only the developers who need access.

NEW QUESTION 162
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